E—/\—SAW
E—/\—SAW360SP GDA;;%?

A
)

) ‘}\\\\\v c

ﬁ\ 1\ (ﬂ\‘.'
2

A
& A

’ i N
STEOOERER

y 4 Iy \

(&

-1- B H 2020/01/06



E—/\—SAW
E—/\—SAW360SP

T H 2020/01/06



E—/\—SAW

@ Asada

E—/5—SAW360SP PR
Ref. No. a— KNo. EIEA B HE
3 EX9087209 FNATUTE 4U b M5x 6 4
4 EX1008001 FNANTEMN R L M5x12 6
6 EX1117700 4% 4YT M8 x 40 16
7 84194 & - TYY 62827 5
8 EX1170420 7599 A TYYS 360SP 1
9 EX1090510 360SP N -1+ 1
1 EX1546400 {B%E7° Lhhn' - 360SP 1
12 EX1557100 nyh7-L 360SP 1
13 EX1546600 h397° R{K  360SP 1
14 EX1117600 360 F4MA*4 ¢ 8/10 x 20L 8
19 EX1091030 220A/360 A4 1-Hg" 1
21 EX1166500 360 7507+ #8 1
23 EX1091600 360 1% Y4 LAR)-7 2
24 EX1189700 # Y4 Ltyh 360E 1
25 EX59087220 NATATEER 4UF I M5 % 16 4
26 EX911258 EX220 0-Mt" Y p 4 x 6L 1
27 EX1117500 AFAMTyY4—h 8/18 x 1t 8
29 EX1091310 360 N 477 H30hnuN 1
33 EX1145400 7" 379+ R 360E 2
34 EX1145500 7" 3y L 360E 2
3.5 EX725269 SERESE A5,3 360SP 2
35 81118 N HEES 6 Av% 2
36 81020 NATYM M8 =FE vt 1
37 81040 Utyh M8 1
45 EX1556100 hy4-Y%7+ 360SP 1
46 EX1547930 -4t - 360SP 1
49 EX1552000 AF4N 77 L-FA7°YYHT 360SP 1
53 EX1551700 H{UAr)  360SP 1
54 EX725471 IEHEF S-12 1
55 EX742168 'y 3x14 1
56 EX1551900 KR MY3V37°)vs 360SP 1
57 EX1551800 F&h 360SP 1
58 EX1549700 1 477 99uh 360SP 1
63 EX1095110 EX170/220A 1-+ {R&R)-7 1
64 EX1549100 - V7" 3957 360SP 2
65 EX1552800 AT M16 1
67 EX1551400 EX360SP 75v%" R 1
68 EX1551500 EX360SP 75v%" F 1
69 EX1552300 a B REIN - -YavRT Yy 360SP 1
72 EX1547200 0y47y4h 360SP 1
73 EX1155300 EX170 ayybn' 7" Yuh® 1
74 EX1551600 AN —#- 360SP 1
75 EX37897500 1-F 4397° 360SP 1
76 EX24923300 ERES A4,3 360SP 1
77 EX1550300 I7-7 795 360SP 1
78 EX1547500 N yh39v17° L-b 360SP 1
79 EX1098600 MARAYE" V42 U T20-40X8L 2
80 EX1538700 [lERA M )b 360SP 1
81 EX1098303 EX170 47" v 6% 18 1
82 EX1098304 EX170 47" v 3% 121 2
8.5 EX1156610 750"~ TYHT GFM-101216-06 PS360 1
85 EX1098709 NATYTE=M4a L M10x 16 3
87 EX1177210 7" v9uh" 360SP 1
88 EX1098711 NANTEMM4 L M8x20 2
91 EX1154100 EX170 9yY3va’ A 1
92 EX1008007 NATUTEMIME M M5X% 16 L 8
94 82930 FFEIUTELRAREEIE VAT MAX20L 7

—3—

B H 2020/01/06




E—/\—SAW

@ Asada

E—/5—SAW360SP PR
Ref. No. a— KNo. EifEA B# H&E
96 EX1027300 EX170E 1k iR 1
97 EX1155200 EX170 At YN WAYHERAT Yuh® 1
99 EX1548200 AL vh aYH 360SP 1
101 EX1113300 91-7"7yY% 6 AvF 1
103 EX71548110 7wy vh" 360SP 1
104 EX1153801 EX170 0y¥v9" b - 1
110 EX1549900 BHE£ B 360SP 4
111 EX1550000 BEEERERE 360SP 1
112 EX1550100 BEEAVY 434" ) 360SP 1
119 EX1547690 T ER 360SP 1
120 EX1547790 N yFUAN - 360SP 1
123 EX1552200 nyh-Ay¥ (Z&EMH) 360SP 1
124 86003 NEENT 5 1
125 EX1548700 A TYVH VST - 360SP 1
126 EX1550200 E-95-2 360SP 1
127 EX1153900 EX170 ayhun -Yvin - 1
128 EX1549300 BEtVY- 360SP 1
129 EX1549400 #-Fy K -F 230V 360SP 1
130 EX1555900 EHEFHE 230V 360SP 1
131 EX1556700 AT-5- 230V 360SP 1
132 EX1548800 h-% Y7 FENE - 360SP 2
134 EX1179700 V1000 A{yF#H 1
135 EX1549200 At -F tU¥- 360SP 1
136 EX1094900 EX220 &EiFE1-+ 230V 1
138 EX1153010 EX360SP nyM Il L 1
139 EX1153410 EX360SP nyM VR 1
140 EX1548600 J4Hn" - 360SP 1
141 EX1548000 A EHX{REIN - 360SP 1
142 EX1548400 1REENN - 360SP 1
178 EX1553600 bo¥ 1
180 EX1098702 BIRFENATYTER I M4 X6 5
181 EX1118400 360 N 47 ¥k -bREKI-L 100 6
187 EX1097611 NATUTER I M4 X 10 2
188 EX1098712 NANTEM L M6%x8 1
189 EX1097605 NATUTER I M6 % 40 1
191 EX1546300 £ 7 40 2 360SP 1
195 EX1091035 360 AYYa-Hs" 1
197 EX1189150 M-l 24,7 SA 1
198 EX1188900 HUAr4) GFM-1416-04 2
199 EX1189100 4=l 24mm SA (’é‘ EX1189000,EX1114100) 1
200 EX1099405 A7 7 b= 2
231 EX1125200 1IEHEG S-6 1
234 EX1098510 Nty M10% 1,5 2
235 EX1039310 EESE 10,5 1
236 EX1534500 W M5X7 1
247 EX1024800 EEE 12x18x%0,5 2
248 86009 INEEN T 2 1
249 EX1555700 Wb M6 %6 1
251 EX1157000 NATNTIEDHI L M4X6 AlSI 316 1
252 EX1112960 79" %4 360SP 1
256 EX1556600 ¥ 79%7+ 360SP 1

B H 2020/01/06




E—/\—SAW

@ Asada

E—/{—SAW360SP AY: A5
Ref.No.| =3— FNo. BB a4 B %

1211 | EX1113050 K-} 360E 1
1321 | EX10497 EX360SP #-% ¥7° 39230V (24 A) 1
1811 | EX1098612 +oFoR et E R REEIE V4 L K50 % 35 5
1821 | EX1098611 +oFoR et E R REEE Ve L K50 % 20 4
1831 | EX1098610 +oFoR et E R REEIE v L K50 % 16 1
1841 | EX1533610 +oFoR it E A REEE vt L K306 2
1851 | EX1098620 oA E A REEIE vl L K42% 10 4
1445 | EX1119111 N 47" 4F -} S 360SP 2
1441 | EX1118811 N 47" 4% -} L 360SP 1
A EX1556200 360SP 4357° 7-hE 2

B EX1556300 360SP A[&))7v7° L 1

C EX1556400 360SP A #5757 R 1
EX1552900 200N 1

T H 2020/01/06




